Key answer of SSLC Project work 5

Choose the correct homophone given in the brackets.

1. We had many apples to carry. (to / too)
Answer: too
2.1 a horse at the Marina beach. (road / rode)

Answer: rode

3. The books are over on the shelf. (their / there)
Answer: there

4. Smita went to the market to vegetables. (by / buy)
Answer: buy

5. Speaking is not in the library. (allowed / aloud)

Answer: allowed

6. You must correct answers. (right / write)

Answer: write

7.0ur ___ asked me to pay exam fee. (principal / principle)
Answer: principal

8. The king came along with his __ wife to the palace. (fair / fare)
Answer: fair

9.He wasvery ___ because, he was ill last week. (weak / week)
Answer: weak

10. | asked him to me near the book stall. (meat / meet)
Answer: meet
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